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Thank-you Sir for this Tremendous Class Session of today's. ., &
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My Answer for today's Homework is-
Option B ==192..
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ﬂ} @nishthashukla72§5 1 hour ago

Homework Answer
192

Reply

% (@rajibsaha1428 20 hours ago

24*8=1092

5 G Reply

£,

v (=« Treply

L

femranajit_indidn 3 hours ago
192

75 C1 Reply

£

v (%) Treply

"

@’, (aishikaghosh3030 X hours ago

192

75 C1 Reply

v () Treply

*,

(@surbhisinha7335 20 hours ago
192

75 G0 Reply

e

v (3 Treply

*,



SSC CHSL 2022-23

PARTNERSHIP

IR



SSC CHSL 2022-23

When two or more than two persons run a business jointly, they
are called partners and the deal 1s known as partnership.
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If A and B are partners 1n a business. They invest in the ratio 3 : 7, at the end of 8
monthithdraws all his investment. If they receive profits in the ratio of 9 : 14, then

find how long A’s investment was used?

A 3R B U €M™ H AWIGR &1 o 3: 7 o ST H oIS FLd &, 8 HE oh i H B 3T
AT F7ersT AT T 21 AE 3 9 © 14 3 STUTA H TS JTH 81T &, AT A 3T oSt fohe €9
o ToTu 9T, T shifs|

~
A A

B ' (a) 3 months
WS 7(\,\8237 M‘j\/ (b) 6 months

N = L —— (d) 12 months
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A and B started a business in partnership investing Rs, 20,000 and Rs. 15,000
respectively. After six months, C joined them with Rs. 20,000. What will be B's share
in the total profit of Rs. 25,000 earned at the end of 2 years from the starting of the

business?

A ST B T ShHTT: 20,000-%7F N 15,600-F9 T {31 3hleh HIHERT H Toh FaE T &
foram B8 W_IH % 9116, € 20,000 T 3 HT 3ok €T SIS 71| SATIR & & § 2 I8 o6
37 H AT 25,000 ¥4 % Fd chﬁBW%WWTEﬁTH‘?

(a) Rs. 7500

(b) Rs. 9000
(c) Rs. 9500
(d) Rs. 10,000
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A and B shares a profit in the ratio of 9 : 11. Total profit is Rs. 60,000. Find the share
of B's profit.
A SRB, 9 : 11 3 IUTd H 14 | L 8| A A9 60,000 FAT 8| B 3 AT hl el

RIGEAISE
A LS
A, W\ — Vool
‘3@00 *\\ :'NS’BC/'QO

NN S =S

G T Qorenod
N (b) Rs. 27,000
( =15 Y (c) Rs. 14,000
Ror—=7 /~

\ (d) Rs. 15,000
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Jay started a business investing Rs. 12,000. After four months, Ajay joined him with
a capital of Rs. 16,000. At the end of the year, they made a profit of Rs. 5,100. What

should Ajay's share be in the venture?
S 12,000 T T AT Fileh Uoh SATHT I [RATIER F8 1 o 916, 3151 16,000 €9

<l GSiT o ©1Y 3Heh 1Y S[S 71| 99 o 37 H, 38 5,100 TG 37 ATH AN Fadd |

g 4
S N Asek.

g (b) Rs. 2,700
( BB S o s
/ﬁ/"‘_\\\\ // \/ (d) Rs. 3,200
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two years from starting the business, they earned the profit of Rs. 51,000. What will be
A’s share in the profit?

A = 20,000 B9 T TIRT 3T HEST [oRATl B, 45,000 T94 o A1 1 99 §716 39oh AT IMHA
THT| SHET I& L oh &l 9 9712, 3781 51,000 TG 3hT AT SASId kAT AT H A

e <= g

(b) Rs. 20,000
(c) Rs. 30,000
(d) Rs. 35,000
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12,000. What will be the ratio of their profit at the end of 2 years?
#fl o1 20,000 T | SYTHR & L &1 9 HEH o o182t ST 37k €reF 12,000 T 6 €1
SIS &I ST &1 2 TN o 37 H 3k T 2T STTATT T ST

Ron o
P et
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7 (b) 3:8
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Pranav and Praveen started a business with capitals of Rs 60000/- and Rs 96000/-
respectively. Pranav took a salary of Rs 1500/- per month from s he ran the
business. They carried a profit of Rs 44000/- at the end of the yearst 1s the share of
Praveen 1n the profit?

T P SO 3 SR 60000/ - FHT 96000 /- T 7 oh AR AT et worer 3 aney &
1500 T YT AT ST S foram, SRIifeh 98 SUaET™ I 18T T | 321 9N ok 3Ad U 44000 9
T AT ISTAT | T H JA10T ShT e T & 2 %v\ow‘%ga&xm = |Sook\a=\%s00

Vecxwon ‘ W “;;6:1\\ (@) 10000 & %\\kz_ﬂ{égg °
< (205, 27 (c) 18000

PN\ R} i) , \ = 060
A8 Y % (d) 24000
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Beena and Meena started a boutique investing amounts of Rs. 35,000 and Rs. 56,000
respectively. In Beena’s share in the profit earned by them 1s Rs. 45,000, then what 1s the

total profit earned?

ST SFITHAT 7 hHT: 35,000 TG N 56,000 T =i TIT 3hT oI shich Teh SeTeh & ol
3Tk G FARSIA 1 H ST o1 fe® T 45,000 TR 2, 1 SARSTd et AT Teha T 82

o Meeno,
©es 3o

& X RN\ (2) Rs. 81,000
(b) Rs. 1,27,000
(c) Rs. 72,000

@RS. 1,@.
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A, B and C started a business by investing Rs. 1,20,000, Rs. 1,35,000 and ,Rs.1,50 OOO
respectively. Find the share of each, out of an annual profit of Rs. 56,700.

A, B 3T C 3 HT: 1,20,000 T4, 1,35,000 TG 37T 1,50,000 FGF T ST ek Teh
SISTH & TohaTl 56,700 T o TNk 14 H H Tceh shl &1 T shiToy]

P : C
% '. \/”2(43(\ )(867(\

A leoo
- 9\ \Oﬂz (2) A= 16828, B=18900, C=21000

/ L,_\)
—‘r,,, 2{4 (b) A= 16800, B=18900, C=21000)
‘\ 5%6/0 (c) A= 21000, B=18900, C=16800

)\\ &\G‘O (d) A=16800, B=21000, C=18900
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A, B and C started a business by each investing Rs.20000. After 5 months A Withdraws
Rs. 5000, B withdraws Rs. 4000 and C invests Rs. 6000 more. At the end of the year, the

gets the total profit of Rs. 69900. Find the share of each.
A, B 3 C I&F 7 20000 &I T o1 ok FRITE TE FAA 2 | 5 HEH IG A 7 5000 %

3, B 4000 ¥9 TehTel 3T C 7 6000 AT T9 T 431 T alAc Tk o9 o 3id H,
FA ATH_69900 F. T ITH GHAT Tl Teeh s T J1d Hl

p ® =
Q@ )(5’+\§759.@@,@+\6$?> i@w\\i&é(éﬁ = 28200, B=69900, C=20500

\3%
(b) A=20500, B= @ C=28200

(c) A=20500, B=28200, C=69900
é\fd) A= 28200, B=20500, C=69900
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Four milkmen rented a pasture. A grazed 24 cows for 3 months; B 10 for 5 months; C 35
cows for 4 months and D 21 cows for 3 months. If A's share of rent 1s Rs. 720, find the

total rent of the field.

=T SRR 3 Ueh SIUATTE fohare o fofam) A§r24Tr|?ﬁﬁ3ﬂ%ﬁdoh =T B 10 T 5 984
AT C 35 TRT 4 FEY 3 fow 37T D 21 7191 3 7 3 foqq) i A 3 Fee a7 TR 720 % 2,
1 I 31 el R HTe hifsTg)

A ® G o

suds  \oXS ISR TSRS (g 900
(b) 2567
(c) 3250

(d) 4250
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A mvested Rs. 76000 in a business. After few months, B jomned him with Rs. 57000 At
the’end of the year, the total profit was divided between them in the ratio 2 : 1. After how

many months did B join ?

A 9 T EE H 76000 % AT {ohaT | %50 HEMT o o1, B T 57000 % o €1 IHH SIS STl &

| Y o 3 H, et 1 ohl 3o i< 2 ¢ 1 o STIUTd | {SITiST fohart T | fohel HRIAT o 1€ B
: ey

SITETI | T §3T ! v éf

_,_——

— = ;71 Ha X\G\ (a) 3 months
S s = R (b) 2 months
W (c) 6 months

i non i 63\5)0\\(99 (d) 4 months
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A, B and C invested their capitals in the ratio of 2 : 3 : 5 The ratio of months for Wthh
A, B and C invested 1s 4 : 2 : 3. If C gets a share of profit which Is Rs. 1,47,000 more
than that of A, then B’s share of profit 1s: -

A, B 3R C 7 319t St i 2:3:5 o ST0Td § et o, A, B 3R C g1 fHoer fobw 7Te #ii
T STATA 4:2:3 81 Al C <l AT o1 fewa fiyerar & ST . A?ﬁ?l?i‘rﬂﬁ 1,47,000 3Tfk 2, i

mﬁBw%W%: o C\/ A = x
7/ W‘D o D (a) Rs. 1,05,000
a\wo c = —hme (b) Rs. 1,89,000
\ 3\ 0 [ ) ¢) Rs. 1,26,000
= \36 (d) Rs. 1,683,000
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